PIGtE(E

BE 98 @ o | S PI& H285 EPIFtEE(#5[H) BAfi] ER BHES
A101 THIREBIEREE 0.34 (mg/L) RIS REE A RBIERUEL 1106
A102 BRAHERMEREKEEELXK 10.0 (&, IEE%) (BANERYERE/ KEE%(E) x 100 1105
A103 [# NU/\OXY VREKEREEER 32.0 (%) 3 (/KIS DM NN $a7KieER) / KEE#EEx 100 1107
K | AL104 B4 (TOC) EE/KEEAER 23.3 (%) 3 (WKieDEMY (TOC) BEY #a/kieER) / KEEEEX 100 1108
N @ A105 EfEEEKEEAELR 0.0 (B, EER) | (EKEOSZESEERE HKIEE) / KEEEEX 100 1110
28 A106 EBHMYEREKEEEILX 23.0 (B, TEBR) | (HAKEOUZBHMYEDER/ HEKIEER) //KEE%EX 100 1111
ES A107 Bt EREKEREAEER 0.0 (8, EER) | (EKIEOSEMCTIERE $KASER) / KEE#E[Ex 100 1113
T | EEE A108 [HEBRIERYIREKEE%ER 20.0 (8, HER) |3 (EKEOMZLYSRIERERE AKAE) / KEREE[Ex 100 1114
B iz} A109 EBEEEKEEIEBEZLE 0.000 - max Z(Xij/ GVj ) 1109
= A201 [RAKKEBERE 57 (158) [FAKKEBESRTBR R 1101
1 sz | A202 BAAKERE (BE) BFEE 11.3 (BFF/100 km?) |(a7KISKERE (BH) BuKEPTE/BTEHA/KEE) % 100 1102
K - A203 |EKHERERER 2.5 (%) (SERIICEIR L RCHED AR / B/KHEHEE) x 100 5002
A204 |BEIEIKE 99.3 (%) (BRI R 87K A 28) X 100 1115
A205 |BF/KIE/KEISER 0.0 (%) (BB KBS B / BT KABKIESR) x 100 5115
S | A301  KRODKESHEER 0 () ERKBK BB 2201
=3 | A302 FRTEERUAIBEE 0.0 (%) (P FSEME R ERMLIE K B/ ERTH/KE) x 100 1116
M | mREm | A401 |ERRUFAIKER 36.16 (%) (BhBUHA/K BB/ FA7KHER) x 100 1117
B101 |HI®REKERER 23.9 (%) (B SAREKEKE/2KEKE)x 100 1004
B102 |EUKE1m Y/ DKRESIRERE 0.00 (A/m>) IKRIRE (IR E U = B/ ARk SR 1005
B103 |HBTF/k= 58.7 (%) (ith FkigKE / ERIEVKE)x 100 4101
B104 |HE:&FIA=E 45.2 (%) (—BTImLKE/MEEREE ) x 100 3019
B105 |SAH@= 53.1 (%) (—BHERABUKE/MEEREES) % 100 3020
B106 &= 85.0 (%) (—BEEIfKE/—BEARIKE)*x100 3021
B107 BUKBIEEEE 3.0 (km/km?) BUKEHE R/ RTEHA KT 2007
ienes | B108 | ER&RIRE 12.5 (%) (AR U BIRIER / SIRIER) x 100 5111
1 B109 /ULT &= 5.4 (%) (RIR U/ ULTE / JULTRES) x 100 AR
B110 k= 7.3 (%) (FERIR/KE / FRIBKE) x 100 5107
B111 A= 92.4 (%) (FRIERKE / EREKE) x 100 AR
B112 |BINE 88.8 (%) (FERIBUUK R/ FRIAIKE) % 100 3018
B113 |AC/AChETERRE 1.16 (=) FUktES S/ — A TIIRUKE 2004
B114 |fA/KAO—AMZ0DEKE 335 (L/g8-A) (—BFImKR/RIERKAL)x 1,000 2002
B115 |fa/K&IBEE%R 0 (=) FRIHA/K IR A 2K 2005
B116 |fA/KERE 99.7 (%) (RIEHEK AO/H8KRIEA A ) x 100 2006
N B117 | &fEsiREMHmR 50.4 (%) (FIRHLEREY - BR - STEEIEsDAEHER) x 100 5110
. B201 |F/KIBHiREIE 0.00 (15/10 &-EFF) | 10ERDRKISEIE B / KB 5101
B202 |SBikisHIK AR 92.6 (%) (BRI MK A O/BFEHAKAO) x 100 2204
B203 |fA7K AO— A7z DETEBEREIKE 194 (L/N) (BAHENSEX1/2 + BREFKESE)x 1,000/B KA 2001
B204 |EROSBHEE 5.4 (#£/100 km) | EIROBHHR /( BIEE/100) 5103
e | B205 EREROSBHIIE 0.0 (££/100 km)  |ESEROBHELY (EHEITE/100) 2202
e B206 |#HREWOBHIIE 9.0 (£/100 km)  |SAREIROBHE / GREIKIEE/100) 5104
B207 |IEHBEIRDOBHEIS 2.5 (£5/100 km) | FESABIBIROBMAE / GERREIRILE/100) 5105
B208 |#AKENBHEIS 3.8 (1£/1,000 1) |[#a/KEOBEHMAE / (K42 1,000) 5106
B209 |fAZK AO— A7z DEHEMIK - EK 0.00 (B5RS) S (Wi7K - BRI x WK - BRI ALO) / BIEHEAKAD 5109
B210 KEXIHRIIFREMDIZL 4 (B, %) FERID KB SRR HEEIER AR
Z B211 HNARRERE 3.3 (&/km) SHANARER | BUKEER 5114
E B301 |Ai/kE1m3 YzDEHHES 0.09 (kWh/m?) BHEREOAS / ERIEKE 4001
L B302 |E/KE1m3 HieDEEIRILT— 0.88 (M13/m>) TRILE—HES / kS 4002
iy B | gao3 P DR 50 (g-COym?) |[ZELRTE (CO2) RS / FRIFKE] x 10° 4006
K - (CO,) HiHiE
D B304 |B4LETJRETRILT—FIAR 0.000 (%) (BETRETIRILE—BREOEHEARE / DHEROBNHERE) x 100 4003
it B305 |FkFEAELTDOERFIRR 0.0 (%) (BRI E / BkFELELTE) x 100 4004
4 B306 |EREIEWD YA UILKR 100.0 (%) (VYA DILSNIRBEIEYE / @REEMFLES) x 100 4005
MEERE | B401 40451 )LEEHE - EXR 43.3 (%) [(FO51IVEHEIER + HEER) / BERER] x 100 5102
] B402 | EBIRDIER 0.18 (%) (RS E/BIRIER)x 100 2107
B501 |EEMMELIBESKIERE 0.0 (%) CEEMAERERBI TL\BEKIEREE /28K E%EE) x 100 2101
= 3 7= Ghnt o SRS, SHUESLEERN L AR

s | B502 EERIE BB 53.7 (%) b s« 100 2102
3 B503 |EEMMAELBBERE 10.6 (%) CEEMAERERZ T3 ERILE/EWER)x 100 2103
B504 EBIRDOEHR 0.08 (%) (BN - ERILE/EHIER)x 100 2104
B505 EIRDBLER 0.000 (%) (BN ERIEE/EHIER)x 100 2105
B601 |RHERIDE/KELER 0.0 (%) (B/KRUEEE S/ 2387k MEsREE 1) x 100 2206
B602 |iFKiEsRDmiE bR 0.0 (%) (T SR ODHE SN T3k HESRE 11/ 2387k HEEREE 17) X 100 2207

. N . o [(hRE - 3B%E Y BHEROMELRKIEREEN + S BOHHERDM
B602-2 |i#/K s DEEESYIME( LR 0.0 (%) LB ) kD X 100 AR
B603 |/R> JRRODMIE(LR 0.0 (%) (MM EEDIESN TR TR/ MR LSRR TAEE)x 100 | 2208
fEs% % B604 |EC/CHDME(LE 39.9 (%) (MEM RO SN LR ENE S/ B EEHEE)x 100 2209
i B605 | EROMEER 10.5 (%) (MEEILE/EIIER) % 100 2210
B606 EHEROMEER 29.4 (%) (EREBEROSSMESLR/EBERER)x 100 s
B606-2 EHERDOMEESER 0.0 (%) (EBEBROS SMEEA DS 3 BRTER/EHEIRIER)x100 iR
zz; e — L0 (%) E(E;iﬁ%kﬁﬁaxﬁbkgﬂ%@j%ﬂﬁmﬁEEE/E%‘EDKBEERHEKE%EE) 348

b e v At (BEEKEREUKERD S SMEESEDS 3 EWL R/ EEHA/KHE
B607-2 | EEHE/K A/ K ERDMEES R 0.0 (%) K PEES) X100 AR
B608 |{EEIFAIKSHER 176.8 (%) (SHEEREE CHR T = BEUKEE/—BFIEKE)x 100 2216

o e (PIRERITE S/ SEN — B TIEAR) X (F(TIERATER/E
B609 |EREZHEK 30.7 (=) BTSRRI 055, IENSOE 2211
B610 |MAMEZHEZK 0.2 (=) TR ETES/ — BB 8 2212
B611 |IERHA/KHEREAE 0.0 (EFF/100 km?)  |IS2#a/KHERE/ (RIEM/KETE/100) 2205
B612 [#E/KERBE 0.015 (&8/1,000 A) #AZkEEE/ (BRTEFAZKALD/1,000) 2213
B613 |E#ADIAKS > IIREE 0.117 (m>/1,000 A) |E#HMAHBKY>IDEE/(#7KADO/1,000) 2215
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PIGtE(E

BiZ 9H¥ Xo | BS PI& H28EEPIGtEE(%ER™) BAfi] tER HES
C101 |EZINZHE= 96.2 (%) (BRI SRTBING) / (SZBA- ZETSH) 1x 100 3001
C102 #FBINZH= 107.3 (%) [(ESEUNZS + BN/ (SR B + 55 EA)]x 100 3002
C103 #UNZIE= 121.6 (%) (KBUNZR/HABEFE) x 100 3003
C104 BREXIEDIER 0.0 (%) [RIERIES/ (BRI — FETBINE)]x 100 3004
C105 #RASIER (UNZEHIUNASY) 3.5 (%) (IBREIERAS/INZSHIINA ) x 100 3005
C106 RARLER (BARKIUIAS) 36.5 (%) (BABIERAS/EAMINAS)* 100 3006
C107 |[BEE— A7z DHaKIRZS 90,065 (FA/N) fE7KINES 1Bz BN E PR R S 2 3007
C108 [fA/KINZ(Cx T B ERSEDES 8.7 (%) (BEHE 58/ Ha7KINZE) x 100 3008
C109 [#A/KINZS(CX T B BEEFRDEE 4.8 (%) (2R B /487KIRZE) x 100 3009
C110 [#A/KINZS (CX T BRMEENEDEIS 33.8 (%) (RTINS /487K IR2S) x 100 3010
7 — = -

C111 ;g;g;—zizg&ﬁwh O 16.9 (%) (GERWB DI DB EEERTTE/MHKINZ) % 100 3011
C112 [fAKINZ(CX T B BEEERSDES 192.4 (%) (PEERS/4E/KINZE) x 100 3012
e C113 [ RIEEUR= 100.6 (%) (BLHe B4/ 487K AT X 100 3013
BATE E" Cl14 |[{HAEM 207.0 (F/m?3) A7 UR S/ EERIB UK E 3014

[(REBRA- (F I8+ TARUABREHERM+ B8+ &
C115 |#¥A/KEH 205.7 (MF/m?3) BESEA)] /EREIUKE 3015
C116 |17 H10 m*Y=DRERRS 1,771 () 1 B A10M S DREMANE 3016
C117 |1HB820 m’Hiz DRERRE 3,823 () 1 NE20m>S DREMRRS 3017
C118 | mEhtt= 509.0 (%) (REBVERE/REIAE)x 100 3022
i C119 |BHE&AMEmILE 73.0 (%) [(BAZ+ RIS+ THEEES +EUEINGS)/ Bff - A& ]x 100 | 3023
ES C120 EELE=E 110.2 (%) [BEEE/(BAS+EIRE + I -HEIENS)]x 100 3024
AN C121 |EEEETSRMENE TR 50.0 (%) (BRWEDHDOEEER TS/ L EERHMEELNE)x 100 3025
= C122 |BEE&EDERR 0.15 (=) (BEINZ - T BN/ [((PEEEEE + BAEEEE)/2] 3026
2 C123 EE&EEAE 8.1 (m*/FH) EREK R/ R EEEE 3027
= C124 |BE— AN=nBIUkE 435,000 (m*/A) ERFRAEIUKE / BB TFEmS S 3109
= C125 |[B&EREBOES 0.07 (14/1,000 1) |B2RSFEREE / (REERAE/1,000) 5005
C126 |HI&UMN= 98.8 (%) (RIe#h A28/ F8(=8E) x 100 5006
C127 |[f&KELEEE 9.8 (14/1,000 1)  |sa7KiSER / (B7k4E28/1,000) 5007
C201 |ZKERIT(CR T 2 BIREVSE 1.76 (F/N) BEEHEVS L TS AEIITCRI T B EI82 / £EE 3101
C202 |4MERFRERSRI 8.6 (BERE/N) (BENIEPRHEE S TR ZBAL) / SWER 3103
Jigs | €203 |REBHHERSRS 1.6 (BERS/N) (BEN AEZPHEZEZ BRI X ZHAL) / IS 3104
- C204 HifiiE= 36.0 (%) (BAfiiE% / 2520 x 100 3105
o C205 | /KB TIIFRERELR 11.1 (&E/N) BEDKEEBRREL / SWEH 3106
C206 |EEHIREE 0 (NN =) s (ERRARESELR x HBEAX) 6001
C207 |EHRHZAER 0 (NN =) s (ERBHZABER x BIEE) 6101
EHZE | C301 |[MREtEEXR 100.0 (%) (BT UTKEA —5 —#8 / HGBA—5—BBEH) x 100 5008
it C302 BKIBsE=&FEXR 0.0 (%) (B=BEEUIRKISDRKIEREEH / £BKHEREEH) x 100 5009
papam | CA01 ILHREEIC S SIAIRDITHE 1.8 (8/4%) IR3REER & DECHERER / 1a7kER 3201
ot C402 | >AF—2vV MMIKDIERDIEHE 68 ([E) T I R—ZADBEHEIE AR
sy=x| C403 |KEMERRFHEES 1.0 (A/1,000 N) |REEE/ (RERKAD/1,000) 3204
End C501 EZ#7z& 0.000 (A/1,000 A) |EZHAE/ (FRTEHEKADO/L,000) 3202
=a1= C502 |7>4— MERINEEIS 0.00 (A/1,000 A) | 7>o—REBAL/ (BIEHRKAD/1,000) 3203
-3 BRI | C503 EiZfrAX - (%) (EIEERAREEL / 7> — MEZEER) x 100 3112
> &= C504 |7K@EH—ERICHTIEHERTEE 0.03 (1£/1,000 )  [KiEH—EEBRSHE / (#aKeEE8/1,000) 3205
C505 |/KE(CH T IEBEIGES 0.00 (1£/1,000 #) | KESECBAE / (HKHE2/1,000) 3206
C506 ZKERE(CHT BEIBWISES 0.00 (14/1,000 ) [ KiENESEERGAE / (KEE8/1,000) 3207
PISEE -E2230) CI1 [fA/KACRE 136,192 (N) BEaKAO AR
JOoJ«—IL Cl2 |2HE% 50 (N) BN =E AR
CI3 |KEFER 1 - - )
SRATLD Cl4 [BKZKE 86.3 (%) FOKZKE /| ERIEUKE AR
JOJ+—IL CI5 |[fAK A1 AN DDEKIEER 1.62 (#IFR/10,000.8) [#7kigsk / (BR7E#AKAD/10,000) AR
Cl6 |#aK A1 NS D DHERER 6.83 (&Ff/10,000N) | (Zokigsr+i - BkAEsR) / (R7E#7KAD/10,000) ¥R
. Cl7 BIUKEFE 0.36 (1,000m°/ha) | BUUKE / SHEHEKRSEE i)
- CI8 |/KBX—4—FE 49.3 (18/km) HKBA—S—3 | BKBEE AR
Cl9 |HAEIER 10.06 (m/X) ERAUKEER / BAERAKAD AR

2 /2 R=Y
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